
 

           

 

 

 

 

SUB-MATHEMATICS, CLASS-IV 

CHAPTER -6 (WEIGHT) 

WORKSHEET (BASIC) 
             

   

Choose the correct option:                                 

1. The standard unit of weight is  

(a) gram           (b) kilogram          (c) centigram    (d) milligram  

2 .The smallest unit of Weight is  

(a) milligram     (b) gram             (c) centimeter     (d) millimeter  

3. 2 kg 5g =_______________g  

(a) 25g               (b)205g                (c)2005g             (d)20005g  

Short Answer Type Question-I                               

4. Convert:   7 kg into gram 

5. Convert:   5000g into kg 

6. Convert:   9206g into kg and gram 

Short Answer Type Question-II                         

7. Add:  37kg 310g and 29 kg 894 g    

8. Find difference:  8kg 475 g and 3kg950 g 

 Long Answer Type Question                                                 

 9. The weight of one watermelon is 5kg 350g and that of another is 4 kg 945 g. Which 

watermelon is of more quantity and by how much? 

 

  


